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QUESTION 1

Which entity defines the type of collection process to start based on age of debt, amount of debt, and type of customer? 

A. Debt Class 

B. Customer Class 

C. Collection Class Control 

D. Collection Class 

E. Collection Process Template 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E28945_01/4.3%20Collect%20Revenue/CCandB%20URM% 204.3.2.1.pdf 

 

QUESTION 2

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 

 

QUESTION 3

Your client has installed scalar devices to measure the solar energy generated (Export) and the energy received
(Import) from the National Grid. This data is stored in separate measuring components (registers). 

The validation rules are generally the same for both measuring components, but there is one exception. The Negative
Consumption check applies only to energy received (import). Which two are possible configurations resulting in the
Negative Consumption rule being checked for energy received (import) only? (Choose two.) 

A. Modify the base VEE rule. 

B. Remove the Negative Consumption check from the VEE group. 
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C. Create two different VEE groups. 

D. Use Eligibility Criteria. 

E. Use the Skip Flag in the VEE rule. 

Correct Answer: CD 

 

QUESTION 4

On which three entities can proration be disabled? (Choose three.) 

A. Calculation Rule Business Object 

B. Bill Factor 

C. Calculation Rule 

D. Rate Version Calculation Group 

E. Rate Schedule 

Correct Answer: ADE 

 

QUESTION 5

Your client has three requirements: 

1.

 Apply validations on meter reads coming from the Data Collectors. 

2.

 If a meter read does not pass the validation, an error will be generated and assigned to a user. 

3.

 Retry the validation every 30 minutes for the errors in case the issue is related to configuration. Which statement
describes the base functions you should use? 

A. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-COMP-TD (Complete To Do Entries). 

B. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-IMD-RETRY (Retry Initial Measurement Data Processing) 

C. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be loaded
after 30 minutes. 

D. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-CRE-IMDTD (Create To Do) 

1Z0-996 VCE Dumps | 1Z0-996 Study Guide | 1Z0-996 Braindumps                                3 / 4

https://www.passapply.com/1z0-996.html
https://www.passapply.com/1z0-996.html
https://www.passapply.com/1z0-996.html


https://www.passapply.com/1z0-996.html
2024 Latest passapply 1Z0-996 PDF and VCE dumps Download

E. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be
manually loaded. 

Correct Answer: D 
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